>

O

Relative protein level

—

High CLK1 expression

9y
m

SRSFS expression — High — Low

BXPC-3

% ©
Months after surgery

High SRSF5 expression

& 21005
o & g
v k]
5 wax = § Qfo &o g 7%
22 — S ) mosesrs  mswers & s\g ,ﬁ? 3
PN < > N 2 2 sow
g £ i
. g p-SRSFS (TR s :
2 g CLK T | s — ]
‘g.n.d g o 0%
3 — ——— 3 % ) ®
Loz &) SRSF5) < Months after surgery
k- S Dl oS A RO PP g $§  Numberatrisk
& WL GO GAPDH [ - — £ e w0 2 0
5 =) s | 2
£ &
2
4

O

CLK1 oxpression = High = Low
P-SRSFS exprossion ~ High ~ Low expression ot o

ity
g

Panc-1

BXPC-3
= pSRSFS  mm SRSFS

= g
2.0- = p-SRSF5 = SRSF5 u)) 08 " m% § § -
15 ates 2 5% 2
. T, S os 3 H
S 2 2 so
10 S o € son §
s ™ @ g
° £ 259
os 2w L g
oo ©
. ry o0 3 2 o
5 $ 4 S 2 a
S LSS & S SO0 S s o $LB oS B DS b a o
@"rg%‘*\ﬁ‘ié“ LRSS SEATEE C LRIES < ) % W E) ° % onths afta © o
L RS & N £ % FF o 5 Months aft lonths after surgery
5 s YOI s onths after surgery < )
¢ 9 < & & s & £ Numberatrisk §  Numberatrisk
5 mlor 2 N s N g =|es 10 2 0 0
2 8 =|a7 25 10 2 0
£ =[e 54 18 4 3 c
2 3 @ %
5 ) W % 3
& Months after surgery ° Months after surgery
Low CLK1 expression K Low CLK1 expression M Subgroups 5= HH = HULH = LL
SRSFS expression ~ High = Low SRSFS expression = High — Low
100%
100% 2 100%
g, e
g 5% g 5% Z
g 3 i
2 s s
S sow g s0% g 50% ;
g : H g ;
2 : H 2 i
5 25% i = 25% T 5% :
g : H § p<0.0001
: @ ;
[} | H © H
o% vl 2 i - :
0 20 40 60 80 o 20 Month 40 6 80 3 iy r
< Months after surgery s lonths after surgery Months after surgery
3 Numberatrisk g Numberatrisk . Numberatrisk
g EX 19 s 0 g 25 10 2 13 . 2 s .
K 20 1 2 0 2 21 6 1 3 g = P B M
& k) £ E3 & o & E3 gz - 29 16 2
& Months after surgery 3 Months after surgery 3 % % r
3 Months after surgery
Low SRSFS5 expression Low SRSF5 expression
Subgroups 5= HH — HLLH = LL
100%-
z ©
] 3 H
g ™% 2 7s% s
H s S 75%
2 2 s
$ sow 2 son 3
3 H e son
3 s a
= ;! 25%; H
25% 3
3 ] £ oo
H H H
8 8 &
o% & o 3
[ % o C3 Eg 3 % o E) 8 o
Months after surgery Months after surgery 3 m %
§ y 5 Months after surgery
2 Numberatrisk $  Numberatrisk
8 o 1 . s 2 Number at risk
£ o 15 s 2 o g =|w 0 3 1 2
£ H P % 5 3 =|es 10 2 [ 0
& =2 21 13 2 0 s == 6 5 1 g 84 a A H H
T 5 @ @ @ g 6 % 3 @ 2 -ls 2 o 1 b
3 Months after surgery 3 Months after surgery 3 o & £
Months after surgery

Supplemental Figure 4l



